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POLITICAL SCIENCE
Paper : POL0300104
( Perspectives on Public Administration )

Full Marks : 60
Time : 2% hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x8=8
were fracard PR e f

(@) Who of the following has been wrongly
listed as an advocate of the managerial
view regarding the nature of public
administration?

ER-PPFR o T AREEEe
wReiR oqel B T @RIRRE TOE
SRy ¥4I (R ?

(i) Simon
RESE
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(2)

(i) Smithburg and Thompson
sl = 2o

(i) L. D. White
@&, fe. @Rz

(iv) Luther Gulick
U 3R

( Choose the correct option )

( 0w [P afk Sferear )

(b) Who of the following is regarded as the
father of Public Administration?

O (PRI AF-2Pd g fBoret siep
N=F?
(i) Dimock
fers
(i) L. D. White
@7, f8. @RI
(@) Willoughby
e
(iv) Woodrow Wilson
Teal T

( Choose the correct option )

(o= Rt R Sferear )
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(3)

(¢) Theterm ‘scientific management’ for the
first time used by Max Weber / F. Ww.
Taylor / Vincent de Gournay / Louis
Brandeis.
qEfa AAROEE WOl AYIEE A H
W/m.@ﬁ%.m/ﬁﬂcﬁﬁaml
o3 s IRT IR |

( Choose the correct option )

( wo% R AR Bferear )

(d) The word ‘promotion’ is derived from the
Latin word ‘promovere’.
‘Promotion (PCWERY)’ *Cl ‘promovere
(ColTCATSr)’ AR (oAl =R T SRR |
( Write Yes or No )
(= & = foran )

(e) “Women have been hidden from
history.” This was said by Simone
de Beauvoir / Sheila Rowbotham /
Mary Wollstonecraft.

‘WT@‘WWWWI”@
oReh ceftm fowm o RoskE o/ ol
@R / R TAEAELD |

( Choose the correct option )

( % Rouch AR e )
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(4)

(/) What is meant by ‘3E’ in public
management?

(TR -IRETS ‘3E’Q & 377 2

(g) There is provision for organization of
Public Service Commission in the Article
315 / 316 / 321 / 322 of the Indian
Constitution.
SO TR 03¢ / 030 / 033 / 03y T
SRS EARFCRI ST 959 R 347 02w |

( Choose the correct option )

(om Rewchr afR Sferear )

(h) Which one of the following is not an
aspect of overlapping feature of Riggs’
Prismatic Sala model?

TN @O R e wEn  wroew
Sfi@RTel (AR B e g o

(i) Nepotism / F&= (omaq e

(i) Poly-communalism / 35-Sireemfice;
(i) Formalism / Wiz sy

(iv) Poly-normativism / IzwH-Rftge;

( Choose the correct option )

(o= Revsrehr fg Shrear )
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(S)

2. Answer the following questions (any six) :
2x6=12
wo AR e faan (R e =)

(a) Write two principles of human relation
theory.

TR o OG0! S o |

() What is meant by ‘politics-adminis-
tration dichotomy’?

rafe S e fa-Remm s = {62

(c) Mention two obstacles of good
governance.
-2 701 1T TCEd 41 |

(d) Mention two problems of personnel
administration.
R #pR 01 ST SeEd 91 |

fe) Write two merits of seniority principle.

copel e o1 @ fors |

() Write two differences between new
public management and new public
service approach.

ToH  CTR-JIEA E TR -Gl
Eeedia 1o < forn |
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(6)

(g) Write two human aspects of scientific
management.

(I=IF TR 701 AT et fora |

(h) What is new public administration?
TP -2 R 2
() Write two  similarities between

public administration and private
administration.

51 PP EF (TERFIA 2P TS 4
71 3T fora |

() Mention two aspects of Max Weber’s
bureaucratic theory.

(¥ (@@ AEEefEE ©g1 15 Sea
41

3. Write short notes on the following (any four) :
Sx4=20
oS R @ 5 G ot (R e i) -
(@) Neutrality in public service
CTE-CRTS fAazopsel

(b) Evaluation of scientific management
theory

(@M “AfRorer wgq o
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(7)

(c) Feminism in public administration

(@A -2HTTS TR

(d) Importance of public administration in
modern State

R TS -2 BTG

(e) Disadvantages of indirect method of
recruitment

ST AT Al AR

() Differences between integral and
managerial views of public
administration

AR-prE Sfen RS e SARbEE
7B TEa ALIPIR

(g) Features of good governance

-2pPie CIPEPTR

(h) Henri Fayol’s classical theory

@A (TR o O
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(8)

4. Answer the following questions (any two) :
10x2=20

I A T T (R e )

(a) What is public administration? Discuss
its growth and evolution as a discipline.
2+8=10

- 2 SR R B we
Teoifs e Rer wzasn =7 |

(b) Critically evaluate the human relation
theory.
R o SO TAICEAONE JoRA 3541 |

(c) What is training? What are its kinds?
Discuss any one of it. 2+2+6=10

o R WR gz B B WR R
T O FRACT SeaAsa 3941 |

(d) What is new public management?
Discuss its salient features. 2+8=10

T CTR-IREA 2 W|WR SEe@en

CAMBPITR STCasal 3441 |

fe) Evaluate the ecological approach of Fred
Riggs.

@ Rord R qReEics e |

* %k
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